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And the homeowner assumes his dough has been fixed, etc.

Overview

The &) offered two explanations why the ruling regarding nnp 1021 w517 that it
is 7> 72 Ym, does not contradict the ruling of Xwmw that minn nwyn. Both
explanations assume that the 3712 and or the X % assume that the reason we are not
771 won from nnp is because of 37797 Xrw. The first answer is that it is 370 7°2 51
because of 3727 827117 that he may combine this '77717" with his own flour and not be
o woon since without this 71917 he does not have 7191 7v*w. The second answer is
that the %72 may eat from the dough remaining after his assumed 111 nw19:7. In
both cases the concerned party assumed that the 775 was 2m» his Xnv and
therefore it is a valid 7%1. Seemingly the second concern (regarding the SX7Ww) is
more probable than the first concern (regarding) the 372.> Our N0 explains why,
nevertheless the first answer was regarding 3737 X277.

- 1520 H¥a DIVN NAPIN XYY 1197 N2IN DIVM NIPIN XIPIYN
Initially the X713 established the ruling of 375 7°2 13 on account of 757 X297

(which is not as likely to happen), and did not establish it because of the 2''77w2

(which is seemingly more likely to happen) -
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Because regarding the 3775, he himself knows whether he was »m» (therefore the
concern is greater), however the 2''7v2 does not know whether the 37> was »m»
his &17v]. The above is from @%1ws NN,

Summary
The assumption that the flour is 7711 is greater by the 1775 than by the Pxw».

Thinking it over
Why indeed does the second answer assume that the Y% %" thinks the 172 was >mn
his am0?

! This oo should follow the 23237 3 177 0.

2 [Why should we assume that n»3 897?]

? It may be more likely that the 8w will eat the remainder of the flour from which he separated 775m, than that the
172 should mix this flour with his other flour, nevertheless the probability that one should think that this flour is valid
7on, is much greater by the 375 (who knows that he is 9m) than by the %> (who does not know whether the 772 is
Smn).

TosfosInEnglish.com



